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Inverse functions concluded

For every function f(x), if the inverse of ax) is also a function,
then the function f(x)isan 1nye r=alple function.

Determine if f(x) = x* is an invertible function. If not, restrict
the domain so that f(x) is an invertible function.
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We can also determine if functions are inverses of each other.

Consider the function f(x) = 3x + 2.

Fnd f~1(x). Evaluate f(f~1(0)).
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Evaluate f~1(f(6)). Evaluate f(f~1(x)).
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1. Is the function f(x) = (x — 4)* an invertible function? If noft,
restrict the domain so that f(x) is an invertible function.
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g ¥
2. If f(x) = x* — 5, show that f~1(x) = Vx + 5. \Q
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Try It!

3. I f) ===, ~1(x) = 3x + 10.

(3) Y= £L9(7)
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1. Two functions are given:
; 1
fx)=2x+4 g[x):zx—E

Some of these steps are used in the composition of
functions to determine if f(x) and g(x) are inverses.
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Part A: Rearrange the steps in the correct order and write
the steps in the comrect spaces below.
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Part B: Which of the following statements is comrect?

Ar f(x) and g(x) are not inverses of each other
because the inverse of f(x) is ix -2

B f(x) and g(x) are not inverses of each other
because the inverse of g(x) is 2x + 2.

© f(x) and g(x) are not inverses of each other,
but they are perpendicular to each other.

® f(x)and g(x) are inverses of each other.



